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3.500 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m?)
145.01  (kN/m?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)3500x (B)2350
0.120

>

10kN/m?

3.500

H=

?

B= 2.350

OéJZO

No.



§3
3.1

3.1.1
@

ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/ )
184.18 50.46 0.333 3.63 2.11 145.01 11.74 | 0.K.
0.392 1.50 1.50
e = 0.333

145.01

No.



3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
161.88 50.46 0.388 3.16 1.85 137.13 0.64 | 0.K.
0.392 1.50 1.50
TR

137.13

0.64

No.



3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 80 220
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 445 86.4
6 6
Y N ) 0.34 x 10 41.79 x 10
3 3
S ™ 2.06 x 10 38.69 x 10
ogc 0.23 5.06
(N/mm*) o ca 10.00 10.00
gs 2.8 117.4
(N/mm*) o sa 160 160
T 0.03 0.18
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 220 80
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 86.4 44.5
41.79 10° 1.93 10°
M (N mm) ) )
3 3
S 0 13.56 x 10 14.82 x 10
gc 5.06 1.33
(N/mm*) o ca 10.00 10.00
gs 117.4 15.9
(N/mm*) o sa 160 160
T 0.06 0.19
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

x y)

No.



4.2.1
@
D
A X y A X Ay
(m) m @) | (m (m) (m) (m)
2.350x 3.500= 8.225| 1.175| 1.750 9.6644 14.3938
al- 0.140x 0.500= -0.070 | 0.190 | 3.250 -0.0133 -0.2275
b|-1/2x 0.140x 2.740= -0.192 | 0.213 | 2.087 -0.0409 -0.4007
c|- 1.840x 3.240= -5.962 | 1.180 | 1.880 -7.0352 -11.2086
d|-1/2x 1.840x 0.140= -0.129 | 1.487 | 0.213 -0.1918 -0.0275
el - 0.250x 3.380= -0.845| 2.225| 1.810 -1.8801 -1.5295
1.027 0.5031 1.0000
Vo=SA L= 1.027 x 1.000 = 1.027 (m*)
o
V =Vo yc= 1.027 x 24.5= 25.16 (kN)
A X 0.5031
X s A 1.027 0.490 (m)
TA Yy 1.0000 C,
y A 1.027 0.974 (m)
@
D
A X y A X Ay
(m) m @) | (m (m) (m) (m)
2.230x 3.380= 7.537 | 1.235| 1.810 9.3082 13.6420
a|-1/2x 0.140x 2.740= -0.192 | 0.167 | 1.173 -0.0321 -0.2252
b|- 0.140x 0.140= -0.020 | 0.190| 0.190 -0.0038 -0.0038
c|-1/2x 1.840x 0.140= -0.129 | 0.873 | 0.167 -0.1126 -0.0215
7.196 9.1597 13.3915
Vo=SA L= 7.196 x 1.000 = 7.196 (m*)
V. =Vo ys= 7.196 x 19.0 = 136.72 (kN)
A X 9.1597
X = s A 7 196 1.273 (m)
Ay 13.3915 € ¢
y A 7.196 1.861 (m)

No.



4.2.2
V =g b L=10.0x 2.230 x 1.000 = 22.30 (kN)
x =B -2 = 2350 - 2250 1 55
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  3.500 (m)
Pa
a = 0.00 ) KN/m)
W o= 87.76 (kN/m) [ 20.29] 5y
w = 59.90 °)
5 = 0.00 () 50.0f e ;
® = 30.00 C°)
25.01
0% 4 50 go 70 80 90
w(C)
by = 87.76 x sin(59.90 - 30.00)
cos (59.90 - 30.00 - 0.00 - 0.00)
= 50.46 (kN/m)
I
w Pa W
64.00 49.792 73.82
63.00 50.089 77.13
59.90° 62.00 50.296 80.49
61.00 50.418 83.91
60.00 50.455 87.39
* 5990 50.464 87.76
59.00 50.414 90.95
58.00 50.289 94.58
57.00 50.091 98.31
56.00 49.797 | 102.10
55.00 49.429 | 106.00
V = 50.46 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 50.46 x cos( 0.00 - 0.00) x 1.000 =  50.46 (kN)
X = 2.350 (m)
y = - 3.500 = 1.167 (m)
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.350 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.350 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.350 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)

1 25.16 0.490 | 0.974 12.33

2 136.72 1.273| 1.861 174.04

3 22.30 1.235| 3.500 27.54

4 50.46 | 2.350 | 1.167 58.89

z 184.18 50.46 213.91 58.89
T
— 44—
1
v
Fs = >V p +c B L 184.18 x 0.577 + 0.0 x 2.350 x 1.000
B T H B 50.46
= 2.11 Fsa = 1.5
> Mr 213.91
Fs = s Mo 5389 3.63 Fsa = 1.50
R
> Mr - X Mo 213.91 - 58.89

d = sV ) 184.18 = 0.842 ()

R

e = 2 -d= 2.350 - 0.842 = 0.333 (m)

0.333 (m) 4%7 B =

0.392 (m)



3)

o _
Q2

sV 6 e 184.18 6 x
B L g )7 23s0x 1.000 F (1
145.01 (kN/m)
11.74 (KN/1)
e = 0.333
i
!
Lfﬁ\‘ <
. N~
| 4

145.01

L

0.333
2.350

No.
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5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)

1 25.16 0.490 | 0.974 12.33

2 136.72 1.273| 1.861 174.04

3 50.46 | 2.350 | 1.167 58.89

z 161.88 50.46 186.37 58.89
2
E—3
1
¥
Fs = >V p +c B L _ 161.88 x 0.577 + 0.0 x 2.350 x 1.000
- ZH - 50.46
= 1.85 Fsa = 1.5
> Mr 186.37
Fs = s Vo 5889 3.16 Fsa = 1.50
R
> Mr - X Mo 186.37 - 58.89

d = sV 161.88 = 0.787 (m)

R

e = B -d= 2-350 - 0.787 = 0.388 (m)

2 2
1
le] = 0.388 (m) 5 B = 0.392 (m)



3)

@ _ TV 6 e . _ 161.88

= + =
e B L M5 )7 230x 100 F (1L

137.13 (kN/m?)
0.64 (kN/m?)

6 x

0.64

137.13

0.388

2.350

No.
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No.

§6

6.1

ove ¢




No.

6.2
6.2.1
1
a = 2.92(C) gkﬁ7m)
W= 4.92 (v/m) [ 3.25] 0
© = 57.00 )
5 = 20.00 (°) o T~
@ = 30.00 (°)
1.0q
%% 4 50 36‘0 70 80 90 100
w(C)
ba - 4.92 x sin(57.00 - 30.00)
cos (57.00 - 30.00 - 20.00 - 2.92)
= 2.24 (kN/m)
I
557.00°
w Pa W
61.00 2.195 4.22
L____________ﬂ 60.00 2.212 4.39
59.00 2.213 4.54
58.00 2.225 4.72
* 57.00 2.239 4.92
56.00 2.239 5.10
55.00 2.237 5.29
54.00 2.229 5.48
53.00 2.223 5.69

17



No.

a = 2.92(C) kN/m)
W = 93.29 (kN\/m) [ 22.68] 56'0
w = 56.70 (°) 4.0 T 7 3
d = 20.00 (°) |
@ = 30.00 (°) 30.01
20.0/
10.0
0% 4o 50 160 70 80 90 100
w(®)
by = 93.29 x sin(56.70 - 30.00)
cos (56.70 - 30.00 - 20.00 - 2.92)
= 42.01 (kN/m)
I
w Pa W
61.00 41.471 79.72
56.70° 60.00 41.703 82.77
59.00 41.876 85.89
58.00 41.976 89.06
57.00 42.001 92.28
* 56.70 42.008 93.29
56.00 41.973 95.61
55.00 41.867 99.00
54.00 41.690 102.48
53.00 41.437 106.05
52.00 41.107 109.72

H =Pa cos(® +a) L

L : ( ) L =1.000 (m)
Pa o a H y
(kN/m) ¢) ¢) (kN) (m
2.24 20.00 2.92 2.06 0.167
42.01 20.00 2.92 38.69 1.080




6.3
6.3.1

6.3.2

6.4
@

No.
H=2.06 (kN)
H y=2.06x 0.167
= 0.34 (kN m)
H = 38.69 (kN)
H y=38.69 x 1.080
= 41.79 (KN m)

b = 1000 (mm) [0 0 0 0 0 © |:}5£

d = 80 (mm)

As = D19 - 6.5 ! 1000 !

= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 1862 2 x 1000 x 80

= X -1 + 1+

1000 15 x 1862
=  44.5 (mm)

M= 0.34 (kN m)
S = 2.06 (kN)
_ 2 M _ 2 x 0.34 x 10°
b x d- ‘%;’ 1000 x 44.5 x (80 - 444%;5,)
= 0.23 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
_ M _ 0.34 x 10°
- X - 44.5
As d - 3 1862 x (80 - 3 )

= 2.8 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 2.06 x 10°
~ b d 1000 x 80
= 0.03 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
&
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 1862 2 x 1000 x 220
= X -1 + 1+
1000 15 x 1862
= 86.4 (mm)
M= 41.79 (kN m)
S = 38.69 (kN)
2 M 2 x 41.79 x 10°
oc= x 86.4
b x d—T 1000 x 86.4 x ( 220 - 3-)
= 5.06 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o = M B 41.79 x 10°
- X - 86.4
As d - 3 1862 x ( 220 - 3 )
= 117.4 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 38.69 x 10°
b d = 1000 x 220

0.18 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7

7.1

@

)
)
]
2.090
A X
(m m ) (m A x (m)
2.090x 0.260= 0.543 1.045 0.5674
-1/2x 1.840x 0.140= -0.129 1.227 -0.1583
- 0.250x 0.140= -0.035 1.965 -0.0688
0.379 0.3403
A X 0.3403
X = s A = 0379 - 0.898 (m)
S =A yc L= 0.379 x 245 x 1.000 = 9.29 (kN)
M =S x = 9.29 x 0.898 = 8.34 (kN m)

a—1Tb]

No.

21



&)

A X
(m m ) (m A x ()
2.090x 3.380= 7.064 1.045 7.3819
a| -1/2x 1.840x 0.140= -0.129 0.613 -0.0791
6.935 7.3028
A X 7.3028
X = 5 A = 6.035 - 1.053 (m)

S =A ys L= 6.935 x 19.0 x 1.000 = 131.77 (kN)

M =S x = 131.77 x 1.053 = 138.75 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.090 x 1.000 = 20.90 (kN)

x
1]

1.045 (m)

M =S x= 20.90x 1.045= 21.84 (kN m)




©)

iy

q = 145.01 (kN/m*)

g = 11.74 (kN/m)

G =g + (- g) 44%3,: 11.74 + ( 145.01 - 11.74)x ;:ggg
= 130.27 (kN/m*)

g - (@ +g) I L _ (18027 + 11.74) x 2.090 x 1.000
- 2 - 2
= 148.40 (kN)

L ol 2 @+g _ 200 o 2x 11.74+ 130.27
T3 o + g -3 11.74 + 130.27
= 0.754 (m)

M = S x = 148.40 x 0.754 = 111.89 (kN m)

2)

q = 137.13 (kN/m)

g =  0.64 (kN/m)

G =g + (G- G) 44%3,: 0.64 + ( 137.13 -  0.64)x g:ggg
= 122.03 (kN/m*)

g - (@ *t@) I L _ ( 122.03+ 0.64) x 2.090 x 1.000
- 2 - 2
= 128.19 (kN)

< I 2 ¢ +q _ 2.00 = 2x 0.64 + 122.03

3 @+ 3 0.64 + 122.03

= 0.700 (m)

M = S x = 128.19 x 0.700 = 89.73 (kN m)



7.2

1)
No S M
(kN) (kN m)
1 9.29 8.34
2 131.77 138.75
3 -148.40 -111.89
4 20.90 21.84
13.56 57.04
Mo = 41.79 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 9.29 8.34
2 131.77 138.75
3 -128.19 -89.73
12.87 57.36
Mo = 41.79 (kN m) M
M = Mo

41.79 (kN m)




7.3

No.
&
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 220
= 1+ /14
1000 15 x 1862
86.4 (mm)
M= 41.79 (kN m)
S = 13.56 (kN)
2 M _ 2 x 41.79 x 10°
b x d- Ag, 1000 x 86.4 x ( 220 - 82'4 )
5.06 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M B 41.79 x 10°
X - 86.4
As d - 3 1862 x ( 220 - 3 )
1174 (N/mm?) osa= 160 (N/mm*) 0.K.
S 13.56 x 10°
b d 1000 x 220
0.06 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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No. 26

§8 ( )
( )
8.1
|
0[250
@
A=b h= 0.250 x 0.120 =  0.030 (m)
S =A yc L= 0.030 x 24.5 x 1.000 =  0.74 (kN)
M =S x = 0.74x 0.125 = 0.09 (kN m)
@
A=b h= 0.250 x 3.380 = 0.845 (m*)
S =A ys L= 0.845x 19.0 x 1.000 = 16.06 (kN)

M =S x = 16.06 x 0.125 =  2.01 (kN m)




3

g = 10.00 (kN/m*>)
S =g b L= 10.00 x 0.250 x 1.000 =  2.50 (kN)
x = 0.125 (m)
M =S x= 2.50x 0.125= 0.31 (kN m)
)
iy
i = 145.01 (kN/m?)
g = 11.74 (kN/m?)
¢ =g + (g- g) 44%3,: 11.74 + ( 145.01 - 11.74)x g:;:g
= 25.92 (kN/m*)
g = (@ *t@) I L _ ( 2592+ 11.74) x 0.250 x 1.000
- 2 - 2
= 4.71 (kN)
y B 2 g +@ _ 0250  2x 11.74+ 25.9
T3 o + g -3 11.74 + 25.92
= 0.109 (m)
M = S x = 471 x 0.109 =  0.51 (kN m)



8.2

2)

D

2)

No.

g = 137.13 (kN/m?)
g =  0.64 (kN/m)
G :qz+(m—(p)‘4g4: 0.64 + ( 137.13 -  0.64)x &gi
= 15.16 (kN/m*)
s (@ +q) L L ( 15.16 + 0.64) x 0.250 x 1.000
2 2
= 1.98 (kN)
y l. 2 g +q _ 0.250 2 x 0.64 + 15.16
3 o + O T3 0.64 + 15.16
= 0.087 (m)
M = S x = 1.98x 0.087 =  0.17 (kN m)
No S M
(kN) (kN m)
1 0.74 0.09
2 16.06 2.01
3 -4.71 -0.51
4 2.50 0.31
)3 14.59 1.90
No S M
(kN) (kN m)
1 0.74 0.09
2 16.06 2.01
3 -1.98 -0.17
b3 14.82 1.93
S = 14.82 (kN)
Moo= 1.93 (kN m)

28



8.3

No.

[ 0 0 0 0 0 o |:33E

b = 1000 (mm)
d = 80 (mm) ‘ 1000 ‘
As = D19 - 6.5 ‘ ‘
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 80
= 1+ /14
1000 15 x 1862
44.5 (mm)
M= 1.93 (kN m)
S = 14.82 (kN)
2 M _ 2 x 1.93 x 10°
b x d—% 1000 x 44.5 x (80 - 4;"'5)
1.33 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 1.93 x 10°
X - 44.5
As d - 3 1862 x (80 - 3 )
15.9 (N/mm*) osa= 160 (N/mm*) 0.K.
S 14.82 x 10°
b d 1000 x 80
0.19 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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